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1. Model Structure

Fluffy = pet cat
Moby = pet fish

Fluffy ate Moby Fluffy hasflu

Moby is dead Fluffy is Fluffy has high
hungry temperature
Fluffy's food

bowl is full



2. Model Parameters

Fluffy = pet cat
Moby = pet fish

Fluffy ate Moby Fluffy hasflu

Moby is dead Fluffy is Fluffy has high
hungry temperature
Fluffy's food

bowl is full



3. Propagating Evidence

1. Observe “Moby is dead”, i.e. 3 =1

(0.1 ]

2. Send Ay (w1) = pleg, —aylt1) = | 1
0.99 0.1

3. BEL(z1|z3 =1) = % [0,01] © 1.0

Fluffy ate Moby Flufty hasflu

Moby isdead Fluffy is Fluffy has high
hungry temperature
Fluffy's food
bowl isfull
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4. Propagating Evidence

Fluffy ate Moby Fluffy hasflu

Moby is dead Fluffy is Fluffy has high
hungry temperature

T1—T4 0.09 Fluffy's food
bowl isfull

4. Send 7y, (x1) = p(z1lef _,.,) = [0'91] @

0.99
5. Send 7T£C4('CC2) = p(x2|e;_2—>x4) — p(ﬂfg) — [O 01] from Lo — 4.
_ + 0.18
6. Compute 7(x4) = p($4|€x4) — Zml,@p(ﬂ?zﬂxl,332)7%4(%1)7%4(332) = 1089

0.18

0.82

], whereas before observing x5 =1, BEL(x4) = [0'1].



10.

11.

12.

. Observe “Fluffy’'s Food Bowl is Full” xg =1 !

5. Propagating Evidence

Fluffy ate Moby Flufty hasflu

Moby is dead Fluffy is Fluffy has high
hungry temperature

. Send )‘906<:C4) — [8?] MESSAGE L6 — T4 Fluffy's food
bowl is full
0.18 0.9 0.66
_ — 1) =41 =
BEL(zslz3 =126 = 1) = [0.82] © [0,1] - [0.34]
0.19
Send )\x4(x1) — 21'4 )\:BG(:EZL) Z:I;z p($4|$1,$2)ﬂ':p4($2) — 0.82

BEL(xzi|z3 =126 = 1) = % [88?]@[?3]@[85] = [8;8] = Fluffy still innocent!



